Homework 10: Solutions

7.5.8: If S is the triangle with vertices (1,0,0),(0,2,0),(0,1,1), evaluate:

ﬂwyz ds.
S

Since the triangle can be thought of as a graph of a function on a triangle in
the xy-plane, we will solve this problem like in example 4 of section 7.5.

Let’s first find the unit normal vector n to the triangle S. Taking (0,2,0) as
the base, we find two vectors in the plane as (0,-1,1) and (1,-2,0). Thus a
normal vector to the triangle S is given by

(0,-1,1) x (1,-2,0) = (2,1,1).
And the unit normal vector we’re looking for is: %(2, 1,1).

This gives us two things: first, the number n - k that we need to divide
by is 1/ v/6 and second, the equation of the plane that S is a part of is

20 +y+ 2z =a,

for some a, which we find by plugging in (1,0,0) into the equation to be
a = 2. Thus, in particular, z =2 -2z —y.

Moreover, the projection of S to the zy-plane is the triangle D with ver-
tices (1,0),(0,1) and (0,2). So we evaluate:
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7.5.10: If S is the boundary of the unit ball, evaluate:

‘//S(:r:+y+z)d5.

As many people noticed, this is a function on the sphere with a negative
value for every positive value of the same magnitude, and since we're just
finding the (signed) volume under this function, it must be 0. [Note that
we're not calculating the flux of a vector field through the sphere]. We will
still compute it explicitly to show that it is 0.

We parametrize the sphere as usual with spherical coordinates, find ||®x ®y||
and evaluate:

x =cosfsing, y=sinfsing, z =cos¢

[®4 x Pyl = sin¢
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=7 [sin2 gb]g =0.

7.6.3: If S is

(a) the upper hemisphere of radius 3, or
(b) the sphere of radius 3,

and F is the vector field F = (z,y, 2), evaluate:

ffsEdS.

Here we are calculating the flux, and since the vector field is always pointing
out of the sphere, so the answer should be positive in both cases. Parametrize
the sphere as:

P (¢,0) = (3cosfsin g, 3sinbsin ¢, 3cos @)
D, x Dy = (9cosfsin? ¢, 9sin §sin® ¢, 9sin ¢ cos ¢)
Now compute for the hemisphere S*:
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=27 v[OQW ; F/Q(COSZ fsin® ¢ + sin? @sin® ¢ + cos? ¢sin’ @) d¢ db
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Whereas, for the full sphere S we get (similarly):

fst- dS=27/027rf0”sin¢ de do

= 54 [~ cos ¢]; = 1087.

7.6.4: If S is the cylinder 22 + y? = 4,2 € [0,1], and F is the vector field

F = (22,-2y, 2?), evaluate:
ff F. dS.
S

Here we parametrize by:
®(0,2) = (2cosh,2sinb, z),

and find that
by = (-2sinh,2cosb,0),

@Z = (07 07 1)7
Dy x P, =(2cos0,2sin6,0)
We also find that:

F-®yx®, = (4cosf,—4sinb,z?) - (2cosh,2sinb,0) = 8(cos? f - sin” )

Recall, cos? 6 —sin® 6 = cos(26). We thus compute:
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= 8 cos(26) db
0

= 4sin(20)[2™ db = 0.



7.6.6: If T(z,y,2) = z, find the heat flux through the unit sphere, and
interpret your answer.

When the temperature is given by 7', the heat flow is given by —kVT for
some k, a positive constant. Thus in our case the heat flow is (=k,0,0). We

compute the flux:
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Since the sphere is closed, and there is no source of heat inside the sphere,
there is no net flux through the sphere.

7.6.19: The velocity field of a fluid is F = (1,z,2) m/s. Compute how

many cubic meters per second are crossing the upper unit hemisphere.



With the sphere parametrized as before, we compute:
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4.4.4: Find the divergence of V = (22, (z +y)?, (z +y + 2)?)

Divergence of V is given by:

V-V=2zr+2(x+y)+2(x+y+2z)=0x+4y+2z.

4.4.18: Find the scalar curl of F = (y, —x)

The scalar curl of the vector field F(x,y) = (P(z,y),Q(z,y)) is the num-

ber % - %—ij. Thus we find the scalar curl of F is equal to (-1) -1 =-2.

4.4.18: Suppose V-F =0 and V-G = 0. Which of the following necessarily
have zero divergence?

(a) F+ G



(b) FxG

Note that
V- (F+G)=V-F+v-G=0

So F' + G necessarily has zero divergence.

As for F x G, this is not necessary, as can be shown by the simple coun-
terexample:

F= (—y,a:,O)
G =(0,0,1)
FxG=(x,y,0)

V- (FxG)=2%0



